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B)NX =A-B & WEsh= 9 x 9o Hae?

@47]1 @ 871 @ 16 7 @ 32 7| ® 64 7
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FoA B 127

SEECEE © A%
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®o. e 0 26,066 060
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@ (A-B)U(B-A)=(AUB)N (AN B)*
® (A-C)u(B-C)=(AUB)-C
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®)0<a<?2 ® -1<a<5
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@ m=kn(ke ¥ A=) °1F A, c A,

® 6,0 © @ 3,© ® 6,0 e
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~&B
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.. (AaB)AA = [(AAB) — A] U [A — (AAB)]
§l tholol a0 2 Awed gt 2ok,

[(AAB) — - (AAB)]




o] = A3t X, ¥ o tiote] A4t e XeoY = (XUY)N(XUY)=
Stk 10014 307421 €] ZbA4= F 2.2 Hli4, 3.9] w4, 5 9] Hi=O]
S 27t A, B, C L T W, (Ao B)oC 2] Uil M4E?

N oX oo

o 1o 1o

ouA @A owul @®ul @A

B

XUuY)n(XUur9) =XuY)n(XnY)
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= 42<n(AUB) <60

. m=42, M =60

M—-n=18
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ANB=g 4 W, n(AuB)°] Hjo]E2 n(AUB) 2] HHg
25 4+ 13 = 38 °|t}.

L (n((AUB))S HEg) =a=40-38 =2

Ac B W, n(AuUB)©°] AC]EZ n(AUB) o &7
n(A) = 25 o|t}.

L (n((AUB))S] HHI) =b=40-25=15

w2t g+ b = 17 ]t}




